Assignment 26
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Ex 16.4.1 Compute / 2ydx + 3z dy, where D is described by
oD

Ex 16.4.2 Compute /
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S; %; 1

P Q
zydz + zydy, where D is described by
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Ex 16.4.4 Compute /

aD

ycos z dx + ysinz dy, where D is described
by <z < w/2,1<y< 2. (answer)
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Ex 16.4.7 Compute / (z/y)dz + (2 + 3z) dy, where D is described -
oD Q ~
byl<z<21<y< z2. (answer) * —\
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Ex 16.4.13 Evaluate f (y — sin(z)) dz + cos(z) dy, where C is the Q =-¢ Cn Y
c X =
boundary of the triangle with vertices (0, 0), (1,0), and (1, 2) oriented s ‘3— 2%
counter-clockwise. (answer) P - ( g
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